PR Received dated 1 Aug 2016 -7 Aug 2016

Offices Supplies & Consumble Parts

Post Dated 8 Aug_; 2016

Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status S EE
Date site Dated
1 11606500 3-Aug-2016 STA1000873  |RIBBON+CARTRIDGE FOR  EPSON LQ-2180I 6.00| Each MONTHATONG, MISS AREERAT BSP AreeratM@ssi-steel.local INCOMPLETE 15-Aug-2016
2 11606682 4-Aug-2016 STA2000946  |iiasTnsdwvitdiuidu 10.00| Each MONTHATONG, MISS AREERAT BSP AreeratM@ssi-steel.local INCOMPLETE 15-Aug-2016
3 11605595 3-Aug-2016 CONZZz02728 |INSULATED TERMINAL(BLACK)CORD-END C/N(200152)1.5/8 2,000.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 15-Aug-2016
4 11606649 4-Aug-2016 CONZZ06187 |CABLE SIGNAL RG59 B/U 75 OHM 100.00 Metres THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 15-Aug-2016
5 11606530 3-Aug-2016 CONZZ08932 [LAMP TANGSTEN HALOGEN 240V 300W J LAMP 118 mm R7s "SYLVANIA" 12.00( Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 15-Aug-2016
6 11606555 3-Aug-2016 CONZZz31181  [LIBELTEX WASHABLE PREFILTER TYPE AFM-200 SIZE 2x20 M. THK.20 MM. 1.00|  Roll THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 15-Aug-2016
7 11606526 6-Aug-2016 CONZZ18442 |STEEL STRAPPING STANDARD COIL UNPAINT(liin&aud) 39,000.00| Kilograms | JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 15-Aug-2016
8 11606631 4-Aug-2016 CONZZ18551 ﬁ’gciﬁfijl‘A(BYEl\'l‘)SIZE + 10.1 CM. * 34.4 CM SHIPMENT FOR PRINTER 3400 30,000.00( Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 15-Aug-2016
9 11606630 4-Aug-2016 CONZZ18703  |LIQUID OXYGEN IND BULK 7,525.00 I\igltjrigs JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 15-Aug-2016
10 11606627 5-Aug-2016 CONZZ24031 |PREMIUM TRANSFER RIBBON PART NO.A102-200-0 40.00| Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 15-Aug-2016
11 11606582 1-Aug-2016 CONZZ25411 |SODIUM HYDROXIDE(NAOH) 80,000.00( Kilograms | JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 15-Aug-2016
12 11606459 1-Aug-2016 CONZZ25440 [|indaunvusand (RERINED SALT) 1,000.00| Kilograms | JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 15-Aug-2016
13 11606599 3-Aug-2016 CONZZz29368 |WELD ON DOUBLE FLANGE AISI316L DFX102STM DIA 1" #3000 6.00]  Set JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 15-Aug-2016
14 11604449 5-Aug-2016 CONZZ30249 [CONDUCTIVITY CALIBRATION SOLUTION 30000 uS 1.00| Bottle JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 15-Aug-2016
15 11510106 3-Aug-2016 CONZZ06027  [PAINT BRUSH 1/2" 12.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 15-Aug-2016
16 11606100 3-Aug-2016 CONZZ06700 [TEFLON (10M X 12MM)  (THAI PIPE JORE-TEX) 100.00| Roll CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 15-Aug-2016
17 11606529 3-Aug-2016 CONZZ14460 |aduwes (STANLEY en7 3 M.) 24.00( Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 15-Aug-2016
18 11606556 3-Aug-2016 CONZZ31472  |SILVER GRADE ANTI-SEIZE LUBRICATION LOCTITE P/N 76764 1.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 15-Aug-2016
19 11606482 3-Aug-2016 STA8888888 [rmsuiAasdanauuudzwia Robin NB411 10.00( Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 15-Aug-2016
20 11606712 5-Aug-2016 STA9999999  [deihifmin&esiuudalsainid AQUA MODEL:AP1200 1.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 15-Aug-2016
21 11606655 3-Aug-2016 STA2000004  |NAME CARD AW wuy 2 & 200.00| Each SEEBAMRUNGSAS, MISS PAON BKK PaonS@ssi-steel.com INCOMPLETE 15-Aug-2016
22 11606415 5-Aug-2016 CONAZ09220  |V-BELT TYPE 966696-0 ""BANDO"" 9.5x1150 SP-RAF/RPF FOR FANTUZZI 8.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 15-Aug-2016
23 11604698 5-Aug-2016 CONZZ01954 EIFL-I—6ElF;§)III;(;IFRU:\I'I\FI{inISSI\/ISIISOShII(I)DI\SISé?fiilé'l[?gggLDSON) OR (FLEETGUARD P/N 8.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 15-Aug-2016
24 11606597 1-Aug-2016 CONZZ06484 2%2;2?5 ﬁﬁ;éLPSG%; 15KGS (WORLD GAS) (dosiavii Ju,ifau, vasau 10.00| Bottle PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 15-Aug-2016
25 11606549 5-Aug-2016 CONZZ29670 |COMPOSITION PAPER (3 COPY) SIZE 9"x8.5" (v1u 2 &) 8,000.00( Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 15-Aug-2016
26 11606705 5-Aug-2016 STA1000507 ATTAN 250.00] Ream PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 15-Aug-2016
27 11606563 3-Aug-2016 STA1004097 |P&0O LINE CHECK SHEET 50.00| BOOK PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 15-Aug-2016
28 11606647 1-Aug-2016 STA2000004  |NAME CARD AW wuy 2 & 400.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 15-Aug-2016
29 11606706 4-Aug-2016 STA2000152 auaazaua e WA auen 36"x45" 200.00] Kilograms PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 15-Aug-2016
30 11606706 4-Aug-2016 STA2000539  |qouazen 30x40 100.00| Kilograms PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 15-Aug-2016
31 11606706 4-Aug-2016 STA2000544  |Asransyanw 200.00( Roll PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 15-Aug-2016
32 11606706 4-Aug-2016 STA2000547  |viuyduly 300.00| Roll PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 15-Aug-2016

Page 1 of 3




PR Received dated 1 Aug 2016 -7 Aug 2016

Offices Supplies & Consumble Parts

Post Dated 8 Aug_; 2016

Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status S EE
Date site Dated
33 11606706 4-Aug-2016 STA2000740 auuegsn 24x28" 200.00] Kilograms PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 15-Aug-2016
34 11606590 2-Aug-2016 STA2000784 Lfﬁ5szﬁuwﬁmmﬁaﬁnﬁmﬁwuaxﬂﬁﬁ“ms auna  700x750x980-1040 1.00 Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 15-Aug-2016
35 11606603 3-Aug-2016 STA2000784 AN dsduwiTnouTedY Teyauaslfifinig aune 700x750x980-1040 5.00 Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 15-Aug-2016
36 11606697 4-Aug-2016 STA2000784 i dszduwiinouisduiiyznuarlfiiinns aue 700x750x980-1040 4.00 Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 15-Aug-2016
37 11606730 4-Aug-2016 STA2000784 i dszduwiinouisduiiyznuarlfiiinns aue 700x750x980-1040 3.00 Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 15-Aug-2016
38 11606469 3-Aug-2016 STA2001068 ase@ninsauwivih "SHARP" aua 3 &as fu KP-Y32P 2.00 Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 15-Aug-2016
39 11606471 4-Aug-2016 STA2001112 \dasvviauuze REFLECTIVE CLOTH 12.00 Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 15-Aug-2016
40 11606695 4-Aug-2016 STA4006637 nsTaN®YaZNY 2un 12"x12" 150.00] Kilograms PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 15-Aug-2016
41 11606591 1-Aug-2016 STA4006723 gglg"\;‘ﬂggg;*ﬁ;ﬂ?j;?”il;;iimj";:ﬁ‘%a;‘gsmﬁmm” WIRNEBHENLMA - U 10.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 15-Aug-2016
42 11606592 1-Aug-2016 STA4006723 2;;2;23;:&1“ (zg;zﬁmf;":':ig?gmm”m wimmMEsTNEMA U 9916 10.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 15-Aug-2016
43 11606593 1-Aug-2016 STA4006723 z;zﬂ?e’fa;g;g“ azaasnduiawuasiasiny fu 8247 RO5 fasiaUssanuau o 50.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 15-Aug-2016
44 11606594 1-Aug-2016 STA4006723 adnsaidnilasszuumaifumiala ju 8822 Aesadszanuviu digan Tel.5350 20.00 Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 15-Aug-2016
45 11606595 1-Aug-2016 STA4006723 3;‘:;;?;’12“%%1 a?rﬁ’;"g;%“”““mmam” ullamuadacy u I043A dasia 50.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 15-Aug-2016
46 11606608 2-Aug-2016 STA1000327 gufin wue HD-10 24.00 Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 15-Aug-2016
47 11606608 2-Aug-2016 STA1000485 widy 3" 8.00 Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 15-Aug-2016
48 11606608 2-Aug-2016 STA1000486 1hnnindu 100.00 Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 15-Aug-2016
49 11606608 2-Aug-2016 STA1000489 fusa HB dva s 12.00 Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 15-Aug-2016
50 11606609 2-Aug-2016 STA1000500 dgfdaonil  No.600 36.00 Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 15-Aug-2016
51 11606608 2-Aug-2016 STA1000502 anuuna 48.00 box PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 15-Aug-2016
52 11606608 2-Aug-2016 STA1000503 wulasedal 40.00 box PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 15-Aug-2016
53 11606607 2-Aug-2016 STA1000507 NTYANM 200.00 Ream PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 15-Aug-2016
54 11606609 2-Aug-2016 STA1000529 TENAUAIAR 24.00 Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 15-Aug-2016
55 11606609 2-Aug-2016 STA1000545 DOULBLE CLIP No.112 60.00 Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 15-Aug-2016
56 11606608 2-Aug-2016 STA1000549 laiussiia 36.00 Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 15-Aug-2016
57 11606605 3-Aug-2016 CONZZ05934 CUP-GRAINDING WHEEL "WA46GH7V6A" 178x78x78 7.00 Each THONGYEET, MRS. SULEEWAN BSP SuleewanT@ssi-steel.com INCOMPLETE 15-Aug-2016
58 11606606 3-Aug-2016 CONAZ12794 WIRE MESH WIDTH 2 mt. (HOLE MESH 1"x1") 60.00( Metres SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 15-Aug-2016
59 11606685 5-Aug-2016 CONZZz06487 SILVER BAR 5 % FOR GAS WELDING wuuuwuy 2.00( Kilograms SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 15-Aug-2016
60 11606508 3-Aug-2016 CONZZ06763 BOLT&NUT HEX.HEAD M6-1x30 mm.(CLASS 8.8) 100.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 15-Aug-2016
61 11606386 3-Aug-2016 CONZZz08103 SOCKET HEAD CAP SCREW M12-1.75x60 mm.#CLASS 8.8 50.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 15-Aug-2016
62 11606387 3-Aug-2016 CONZZz08105 SOCKET HEAD CAP SCREW M12-1.75x80 mm. 20.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 15-Aug-2016
63 11606528 3-Aug-2016 CONZzZz14341 SPRING WASHER DIA. 7/16" 20.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 15-Aug-2016
64 11606521 3-Aug-2016 CONZzZz24602 EXTERNAL RETAINING RING DIA.85 MM FOR ENTRY PINCH ROLL SKM#1,2 1.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 15-Aug-2016

Page 2 of 3




PR Received dated 1 Aug 2016 - 7 Aug 2016 Offices Supplies & Consumble Parts Post Dated 8 Aug 2016

B r RF losin
Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer u_ye EMAIL ADDRESS PR Status Q Closing
Date site Dated
65 11606552 3-Aug-2016 CONZZ30500 BOLT HEX.HEAD M20-2.5x60 mm.+SPRING WASHER+NUT (HOT DIP GALV.) 20.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 15-Aug-2016

Page 3 of 3




